V ~ Two installation holes for choosing  #{FL R~} H : SFL R~ mfEmT 2 —
1.Using the 3/4'X 27 housing nut to tighten. f#fH3/4" x 275 545 % i $% [ B w]
a. Installation hole diagram b. Assembly diagram

P4 7L R <t B e S 3/4" x 27Housing Nut
3/4" x 27 F SH TR IR IE

// |
y . T
(1) o
| o
N S ¢
i ~. o

I

16
—~—

2. Using the 3/4'x27 housing nut to tighten, please add one ¢ 8x12 long fixed pillar to assist.
i FA3/4'X 275 SR R 0E B 5 S5 D —TE O 8x 1 2R Y firkE

a. Installation hole diagram b. Assembly diagram
PRIz LR~ B LR B
?8.1 . . & 3/4" x 27Housing Nut
Fixed Pillar 3/4" x 27 F SR IR
T
e
0
T |
X /1 )

VI - When the finger pull is not installed, please add one flat washer to assist the lock to fix
7F§*<TE1§B§ SR — P

Washer
HEH]

VII ~ Please note, before installing the cam, please turn the wheels to the correct combination
code, and then tighten the cam by hex nut. Please comply with these steps when installing
to ensure the internal components functions normally.”

NOTE:It may cause damages with incorrect installation.
R EREERE  WRFRIGISEE BT REH LRI > KRITTRERAEHZE



